101. The theme of the World Special Week, celebrated from 4th October 2017 to 10th October 2017

1S

/

(A) Exploring new world in space
(B) . Yoga for wellness
(C) Water and energy for inclusive growth

(D) Peace, progress and prosperity

2017 =&CLmurr 4 wpse, 2017 éléi@Ll‘l‘l.ll’l‘ 10 euenpudled Qamar_m_ LUl L 2 w&& SmLily UTTS S| G)
& (L1 Gl LIm(melT

®) _sfeinQaiaiider g e s Hevar GoLo

(B) pogpamie LO&STET Guirsm

(C) o drarmélw eueni&éléamer ﬁff-m@@jm <L,DMHE

D) s, warGarmmbd whmid Q& peLo

(A) Nabin Chandra
(B) Sarjubala Devi

(C) Minu Basumalary
(D) A;lkushita quo

2017-10 e, @Gﬂﬁmm'—i“}-”ﬁ]ﬁa ..!JGW'—QU.T-E)D 2 @& QlenerGui GlLecraer @5@1&&5&31‘6@1_ Gumigufled

OB CsmenTeuis@ner &g ApbHa eFm erer LmFmL ULl L e
(A)  pllen epHym .

(B) eargrumer Gsell .

(C) ey un&eoi |

(D) 'éirh@;é}u_rr Gurr@grr
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103. Which city recéived India’s first UNESCO Heritage City Certificate in September 20177

(A) P uri

(B) Kanéhipuram
. i (C) Aurangabad

A (D) Ahmadabad

QeriLbuit 2017-6 @pdwmelar wso UNESCO umpbuifius FremMsLp QUDM BSTD 6TS)7?.
) Lt :

(B) srEpflyrbd

(C) SrmsTuUTS

(D) | &asmgrrurré

104. Who has won the India’_ /

S
(B)
(©)

@gbgu_irraﬁlam 46-6ug SFTeRTL LDTEUL T Qaev edenerml_ @ rbiflwer 2017 u_.xlrrr'r?.
&)  ubpTs pGyen

(B) gﬁmrrg BT LI GHoT 6T

©)  ubprs Cougml

(D) LTS Labblemae
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105, The 7% tertn of the selishics 0:12;0,012;0:0012 ... is

) 1.2x10° B 12x107
(G 1.2x10° | D) 1.2x1077
0.12, OI.012, 0:0012 %% -Grgiﬁg) Glgrr!__r'r auflensuded 7-,618) &Qj'l:]q. :
@A) 1.2x10° 3 (B): 1.2x107°
() I ) S (D) +1.2x107

106.

107. A sum of inoney triﬁles itself at 8% per annum over a certain time. The time taken is
(A) 20years | | | (B) 22 years |
(C) 25 years s M) 230 yearsiy,

@ GHIUILL Sismeg c%m@é;@ 8% cul_ly 63558 epe) L BISTGUSH S ig&@LD srab
(B) 20 y@m@seT | . (B) - 22 et -
(C) 25 yeam(hser - (D) 30 yeur(hser
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.108. Which State Government has launched Gyankunj e-class project?
(A) Andhra Pradesh
(B) Delhi

(C) Kerala
(D) . Gujarat

6THG LOMBlED OT&: &I TEITaHMEIEH LO6iT- 6 TS LG Hlen e QaweoLBHSH g ?

A) by GGz

(B) QLo

(C) (Basl;ramf

D)  o©gs
L___—_"“

109. .The Union Ministry of Bealth an&_ '
0890

| (A) India Hypertension Managemenin .' 1ative - |
(B) . India Health Managemen
(C) Indian Heart and Minc
(D) India Health Mainte

HOMPe| WHMID @HLDL Eéggjmm ahlu ewdssnd 2017-panbui-28 i ICMR o
Qaempgl IHMI-wlenen gieusdluerarg). IHMI eramiig) erangds (@id@ih?

8)  @idu 285 Qrss Siwssb Cwamameio QgL daib

B)  @pdw Cashlane wHmID Be Coeneamain Qsm_dsib
©)  @pduailer @sw wpmibd epamar pe oifloy
(D) @Eﬁlu Gaablaney 2Crmadwin HMID LFTWGS® GG &b
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110. Match List I with Last II :

(a)
(b)
(c)
(d)

(A)
(B)
(C)
(D)

auflens I o e eufleng I1-enemr QUIMmESSIs

(a)
(b)

(d)

Major Flood Disasters
List] List II
China 1. St. Francis
Peﬁnaylvarﬁa 2. Assam
Los Angeles 3. ‘Hwang Ho
India 4.  Johnstown

G ) @

4
3
2
3

e e
N W = N
G - S A I oo i

w&Ew QeueTens & EGemaay
cuflena 1 .
GO FaUTIT
QuendleoGeuefiuwim
OGN 6J (EH&FEVEN

QpSwim

Aa) 4 1. 2 3
B) 3 G i e,
@ edicn 3 4
D) 3 1 2 4
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111.

(D)

Match the following and choose the correct one :

(a) Panipet — 1 - A.D. 1527
(b) Gaghra 2. A.D. 1528
(c) Khanwa 3. - A.D. 1529
(d) Chandari 4. A.D:1526

@ ® © @

@) 1 2 4 3
B) 4 3 1 2
) 3 4 ¢ 1

2 1 3 4

%Q@@ueﬂsmjsmm QurmSS Fiflwime aﬁlaml_ému'_@g,r'req Qe :

() el Tl edase ON
(b) amEym o S g a5 v
() smeeum 3. &.1. |
(d)  &pGai ; o B.9Y576 |

@ ® © @@ $
Q)7 22 iy A0 08 o
B) 4 3 .0 e fss |
€ 3 1 2 A
@7 ok

R
N

112. . Agricultural ; vity can be measured in terms of

(A) dtion of fertilizers and labour productivity

and and labour productivity
(D) Mechanization

Co
, Eg; | &1 nal facilities

GouaTTaTentn 2 HUGSlenwl @qmaﬂ@ﬁ penm
(A) 2 psdlen maiteuaTey HHID > GpLpLIL] o HLISE Herr

(B) -_ 5r’ruurr55mrau&ﬁ

(C) Hlood D@D 2 6w ulﬁls&rg_ﬁjugﬁgﬁmeﬁr

(D)  eapdlpowwrged -
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(©)

D)

®

% 113. Identify the incorrect pair :

Washing soda

Bleaching poﬁr der

Plaster of paris

Baking soda

IT
ITI

IV

seummen Geomig enwl -5@%r|;p5]a; :

Na,CO,

CaO

CasS0, -%Hzo

NaHCO,

. soema Qe

iI.  SQmaUS g6

L. unfav snis

@A) I

®) I

(o) | PG '
™ ™

33

CCSFET

[Turn over




114.

115.

GCSFL ' | - 34 ' : | 4

D) &bl 2017

D) @suGus psTCanmésan @p@ésa@aﬁLu,.

The recently conducted Indo-Maldives Joint Military exercises was called as
(A) IMBAX 2017 '
(B) EKUVERIN 2017

(©) . INDRA 2017

(D) SAMPRITI 2017

FhLISSle ‘r_r;faml_Quﬁ)m @pSHw wressHe| Lgevuy sl () QITae L9 mHé ereueumm SAMPESILIHEDS)?
(A)  @ubuméan 2017 |
(B) as@eutlen 2017

(C) @bslgr 2017

India lacks a strong backhaul to get a

a network

(A) Portal for data disc-x_'iminatiu i T | h

(B) Connecting cell sites to ceftral e
(C)  Coupler for wireless

(D_) Range finder for

e

Qelibuir 2017-@ar @bHwir, 5G-&, Haewrhmid FHUOSHS Camer(@nLb <jareflare GG 6T

‘Urdanajena’ (Backhaul) Quipdl@éselame. LTsanald aaiig QsHeTabSmH Genanil UM
CLGN | | el

(A)  syey u@ﬂlunu'_iaﬂﬂj@sﬁtrﬁ_rrem cumudled |

B) __anww wirpn HlenewsCerh) enstiGusluliler sk aavudanan Q) GEmTéGLD GV

(C) sib@ufdor sre| Qsaissmaessrar Aamarind

— e —




‘ 6 Which group of plants species are lower in number in the plant kingdom?
| (A) Fungi s (B) - Preridophyta

. (O) Bryqphjtes | (D)  Gymnosperms

A

(A)  yesmssar B) QLACLTeLL LT

117. Which class of algae is used in the manufacture of dynamitef

(A)  Chlorophyceae | (B) Chn

(C)  Cryptophyceae

A)  ECarmCrrenLidl

(C) HNuCGLmenud D) S CuCwrenuid

118. Which ; is an exampl ; Q¥~ smosynthetic heterotroph?

(A) Man ‘ 1 (B) Viscum

i

(& Nitrosom‘onas .. 5 | (D) Beggiatoa

Coudl dlp gL 2-ulfléE er®S81EST G 61g)?

@)  weligar B eflevsid
(C) apgCesnGoranmen ' (D)  QuswrGLmreur
A 35

(C) | e g Guims oen LI (D& 6T (D) é!LbGsmntuQuerbﬁdT

Seur 2 esle L& @@)[DE@ crareniGenguiley &l hlenmiger Qararr greuy QgmEs) sr@l?
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119.

120. If —1<r<1, then the sum of infinite number of a geometric series 18

- l-r”)
\@Y 1-r

Qs
S

555 Qgmler sz

121.
(A) acute angle
(C)  straight angle
eTal_L S5 Sienuid GHmewrTLd
(A) | GOIERIGCHTED
(C) GpiGoremd

If a, b, ¢ arein A.P., then 3¢ 3% 3¢ are in

A) . AP
(C) AP.and G.P.

a, b, ¢ ereviuen @@ Fal(s @S

cremm @gmLreufilensuled o GO,

Q)L AD.
(C) AP. wpgd G.P.

a(r" -1) -
&) r—1
a
O =

_1<r<1 eaafle wigeied auemr GlL
N

CCSFT

®) G.P.
(D) None of these

TLreuflensudéd o eremen erafléd 3%, 3% 3¢ o flwuman

EaE

(D) @b Qevene

D) na

a@l-r")
1—r

(B)

(D) na

(B) obtuse angle+
(D) right angle |

(B) a‘j]r‘fl@asrrmm
(D) QemGsmanrd
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122.  The article of the Constitution provides for a Vice President
(A)  Article 53 (B) Article 356
(C)  Article 360 (D) Article 63

G4 WLTES gleveants semevalit Ligedl LB erhs irweeioliy FlLLbMey samdlmg)?

(A= iER e (B) 356
(@) - 360 i (D) 63

— i __,r._,___—._ ————

123. Consider the folldwing statement, choose the correct answe the codes given below.

Assertion (A) :  The motion of the Earth rotate on i is called rotation.

Reasons (R) : Rotation movement causes seas

(A_) (A) alone is correct (R) 1s incorrect

| (B) (A) and (R) are correct and (R) 1s the ect explanation of (A)
(C) (A) and (R) are incorrect

| (D) (A and (R) are correct but (R)NSnot the correct explanation of (A)

SDETEMID  UTSESBISEET  @UEtILIGHL LTS Oarear® gflwrear ofNenL el QETH&sILL_(Herer

&1@@ (A) : Ll gettenanssnGer smmlaQsmareiams snaipnsl erandlGomid.

sigenio (R) @ snapné) @uissin SMTETOTESSTET LI([HOUSTEILD 2 (Heurdlms;).

A) (A L@ &M (R) SeUM)
! - (B) ~ (A) opgid (R) @lrer (o gifl Cogid (R), (A) 2w sfwimer el eT&&LOMELD

Vi © @ wpyid> ®) @ran®id seup

D) A wpogb (R) @ rerBib & %ﬁﬂﬁﬁi}. (R), (A) 2_enL_w sfNwresr eNeTds106 @

A | S | | CCSFT
| |[Turn over




124. The rulers of Bhopal Shajehan Begum and Sultana dJehan Beguln provided monetafy |

support for the preservation of the ancient site
(A) Saranath pillar

(B) Sanchi stupi

(C) Humayun tomb | ' . |

(D) Shersha’s tomb

Gururnéd SpSlwrigsenmer agrganmen GCUSAPWD, &OSTEIT Qeanrerr Cuspd @b eUTOTOM)

fenansans QeliLaiL GrTeronear Uawsms aumiil cuipkiSlen

(A)  &nFBTS SEOGENT

(B) &mepd evgmi

(C) 2.6 s

D) Qagragmreden Hlenarell b

125. Farid was tlie original name of
(A) Shershah .
(B) Ibrahim Lodi
(C) Sikandar Lodi
(D) Ala-ud-din

uitsSen o areniowimen QUi - \
(A)  Qegitagm

®)  @ugradib Gomg.
(C) SAssnsi ("émrrtq_' |

D)  siesmaySen

CCSFT | Mhes iR , S
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126. Pick out the correct reasoris :

0il mixed with petrol for two wheelers due to the following reason(s) :

()= <1t Jubricates the engine parts.

(2) It remove heat inside two engines.

(3) It allows for the deposit of carbon on the spark plug.

(&) (1), (2) and (3)

(B) (1) and (2) only

| - (©) (2)and (3) Unlyl

(D) (1) and (3) only |

Q)  @nQubdiksersdem

@) = SuCumdlE Qemsle (&

@) ), ) wpgd ¢

® wHmit (2) WL O

(C) (2) wpmw (3) LL(HD

D) (1) wpmid (3) i Hid

A e i 39 - e CCSFT
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| 127

(©) NASA (D) ESA

| - 128,

EUSSHLILIL L iUl
LAY .@lsmsﬁrggl‘lbéhi.l werme wmHSGied Hlmieued

B)  smasHbAu flEs HESG HPED

CCSFT i gl

“Operation Ice Bridge” is associated with

@A) ISS o (B) ISRO

‘uafl LT BLally&es eThHE ewlGurh CgmmamLwig)

P e R B I8RO

(C) - NASA | (D) ESA

India.
(A=Al Ihdia Institute of Unani

(B)  All India Institute of Siddha

(D) All India Institute o

D) <wagdbdu Qupms LHsge! sPsL



129.

Match the following :
Deficiency dis_eéses

(a) A 1. Pellagra
(b) B: 2. Nictalopia
(¢ Be 3. Pernecious Anaemia
(d) Bz 4.  Beri Beri

(a) (b= (e (d)
A) 2 3 1 4
B) 1 4 2 3
(C) S 1 3
D) 2 4 1 |
e ——————
QuUTHSSIS : -
@ A
(b) Ba BlgL CeomSlwm
© B QuitefBlLicy Siaffluim
(d) B2 Qufl-Glf

(a) (b) (c) (d)
@A) 2 e S ST
(B)s = 4 2. 3
©) 4 1 3 2
(D) N e g
e
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130. Find the correct relationship between G.C.j). and L.C.M.
£ G.C.D. = LCM
II.  G.CD-<LCM.
L LiEM. = G.C.D.

iv. L.CM. > G.CD.

S e e

(€): -l | (D) 1V

@ QeuciGaug aramaetian (G.C.D. opmb L.C.M.) &

I. BSLuQum.Qum.eu. = 15&8m). Quim.Lo

II.  BSuQueE.Gure. < B&8y.Aum.o
ITI.
IV... B
(A) B) 1I
©) (D) IV
131. Ifp, q are in A.P, then the value of p—4q+6r- ds+1 is

ol B) 2

UG 8 3 @ 0

p,q, T, 8t TG ol (& Qgmi cuilenauiley (A.P) @9, p—4q +6r—4s+t=7?

@ 1 | 3 (B) 2
s @D
CCSFT 42

e QgmLiL




132. Vak Pathar wrote

(A) Pancha Sidhanthiga
'(B) Astangasamgraham

(C)  Girudharshuniam

- (D) Amarakosam

| QUTELISIT eT(pSLI BT
(A uEHE AssTHAET
- (B) o6yl MhI& FDE(HSLD

. . il S i——

C) dmgriésafiun

e,
| - (D)  <swrCsragbd
i |

133. Guerilla warfare means

(A) = Regular warfare

e —

(B) ', -PractiSed warfare

(C) Irregular warfare

(D) Mixed warfare

- Qamleeor Gt @pen crampmed

(A) memmﬁw- Cuimr apenm

i .
s

B) wWHA Qupp Curt wpeon

(©€)  wopsmg Gumit apen

D) seuy Cumi @@m

T e ; 43 ' ' ~ . CCSFT
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134. Which commission sets up international food standard? |

(A) Codex Alimentations Commission

(B) Food and Agricultural Commission

(C) World Health Commission
AR S

o

2 awrey CUmHLEeT SDWHSLULLL 2 08 ST5ms iMHbg QameTemnLb Glufr@l;(l) SIDOESLILIL L HLOlage

wimg)?

C) 28 ssTHM) Sag6T |

D) @pdu srGUWLD

135. Supply is cc}-nstant in
(A) - Short period
(B)  Very short period
| (C) Long period ’)\
D) \_/'ery long perv~
9jafllLy ﬁemsumrraag(;&@m HTEOLD
(A) @gélu_l_asrr:smb -

B) Wss ndwu sreld

©) gﬁﬁﬁurl_ ST

(DY, s Bel aned

CCSFT

gA) CaHTLT&H6n <) GLS]@LD#M@L.%E%T Eﬂgsh

(B)  e.awe| wpmib Couenmaimeniog gienm sLOlage
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136.

137.

- (a) Saradha Act

A) 4 2

(B) 3 1

©) 2 1

(D)3 4
' Glurr([rjlggd&. : |

- (a) emysTHLLLD

The classical economists believed in
(A)
(€)

Free trade

Export and Import

policy.

(B) Industrial

(D)

Commerce

upenwl Gummetluied idlepTaer

(A) ée‘ml_uﬁlsbeurr ouUmesflLILD
©) gppwd wHyb Gné&EWS

Match the correct answer :

(b) Equal Pay Act
(¢) Block Board Act
(d) 20 Point Programme

= e

- (a) (b) (o) (d)

(b) &w sarSlw S L b 2.

(c) E@Lbu_mmas &)

(d) 20 owsdliLib - 4,

(A)__4 o iEnts 23
“(B) 3 1 PR
(@) 2 1 3 4
@) 3 4 2 15

1992
1976

Tmt. Indira Gandh

1929

1976

Qs meTensgudley {_F,Lb_tﬁ]ég-smﬁ (Ol &meturiq (HHSET.
(B) Gsmfidgiop
(D) oeumenflsd

Sowdl. @pdlrmenss

1929

45
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138. What are the chemicals present in match stick?
(A) Red phosphorous, glue, sulphur
(B) Antixﬁany sulphide, sulphur, potassium chlorate
(C) Antimony sulphide, red phosphorous, glue

(D) Antimony sﬁlphide, phosphorous, sulphur

§6@58ufle 2_arar GaudlL@UITHL&6T LITEa?
(A)  Seuliy UmevLIFE, cu&SlyLD, HHSHLD

(B)

el gveu(), HHSSD, QUL Télwid Gsﬁn@m;

(& c%amrq_meﬁﬂ genLi(®), HeuliL) LTeLIFED, GM?“
(D) é;bwlq.mﬁuﬂ EGUGMLJ@ LITGOLITEND, SHSELE

139. Identify the odd person ogf)th 'ollowing.

(A) ' Trisha Deb

(B) Nital Paul &%

(C) Lily ChamunPoonam

(f)) JyC ﬁ§~ ekha Vennam
EC1p Qe [HeTarauigaiiey QurmBsTs pLmT CoTHESH
A) Silagr GaL

. (B) blL_L_6) LITE
(C) 6816060 &Ten) LyeuD

D) Caord &Crar Ceueenid

CESFT - 46




140.

141.

(A) Garana | (B) GCsmemeibLyir
(C)  dmsuym .. (D) wfruer
| : ——————,
47 ' i " CCSFT

Which Tamil Nadu State Highway among these was not upgraded as National Highway in
Novembei* 20177 .

(A) Tirupur — Odanchatram State Highway

(B) Salem — Tirupathur — Vaniyambadi State Highway
(C) Kﬂdaighat — Kodaikanal State Highway

(D) Chennai — Ennore State Highway

Ul gweller @méGL sOpBT e 6hg wrbhle  Cb{HErETme Esﬂmuﬁ 2017-0 GCazélw -

QB {H EreTeaawrs GubussriuLelodamen?

A)  Hmuyt - @l Leaesdyd wrble Cb6HEsemme

(B) Ggeowd — Hmuusgnm —-GIJI'I'('-IGUHU_I.L'DI’_lmq. wrhle OpHEHs
©) - C?asrremL.&.rrL— Q&menL_G&mened Lombley G’ljb@@&rr

(D) Qsenenan — eraremnit Bl Gb (B EhFTEN

(B) Kualalumpur

(A) Coimbatore

(C) Singapure (D) * Durban

BrESTeg ‘2 &5 ST GummeTTsmy LDI'I"I';_F;H'@'; 6T BenL-GlLHME?

|[Turn over




142. If the product of four consecutive terms in G.P is 625. Find the first term.
Ay b 5k B) 25
© 5 Sl Es oy

@ um&EGs bsrim aflenguiler ihssHEs Breng 2 nilisailer QumsEs Csmams 625 erafle

(LPS6V 2_M]LIGNLIS &TEHTS.

A 15 (B) 25
(O e D) 35

143. Gain or loss percent is always calculated on
(A)  cost price:
(C) gain |

'!A! 9|55 dleney
C) @emub

144. A student goes to his school fi tis house at a speed 3 km/hr and returns at a speed of

2 km/hr. If he takes 5 hours and coming the distance between his house and school is
(A) b5km (B) 5.5km
(C) 6km (D) 6.5km

6(Ih) LDITGHTGLGIT @@@m_u_l ueraflsE Qeoaid Gung wafllés 3 8.8 CaussHaid LdafluladBis 56
Hmbyd Curg waflsg 2 .8 GCaussdan Qsodpmi. Gm@,mb Dleum UeTalls@ Olaemm eur
5 wanflGHILD eT(hGg1s QamanTi_med LeTell&E@GD L 1g-MH @G 2-6Ter GyLb

A) 588 | - B) 554.5
~_(©C) 645 | D) 6.54.8
— | |




145. If%:%:-;then ‘”’5‘*" is
(@A) 7 B) 2
© 3 ® =
| @ (B) 2
; - (©) -é— : D) %
:

146. Which is biggest ratio?

]  2:3,8:5, 4:7, 5:8
i | (A) 3:5

] RO L B

2:3, 3:5, 4:7, 5:8 Qaupded QUAWF) era;

@A) 35 B) 4.7
O b8 D) 23
1475 _ is tHe/first Indian city to get its own logo.

(A) Pune | (B) *.Bengaluru

(C)  Chennai ' () Delhi

Qb Slwimesiey g;afré;@aéﬁrg élﬁ%rm‘&,emg, GlLHD WP maﬁm‘n THI?

&) yewmr Ty (B Qursesm
(C)  Qseanen ; (D) Qe
A ke L g '  CCSFT
| - | | e | - [Turn over
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148. World Forest Day 1s celebl;ated on
(A) March 3
(B) March 21
(C) -March 22

(D) March 23

> @& STHSET Hand Qamearrm_LILHLD HIeT 6rgi?

(A) omr&E8.

(B) &2l

(C) om& 22

DTTE 23

D)

149. Entrepreneurship Develop;
(A)
B)
(©)

Qamifler pemare| peGCaThmSSIHETEn S b (EDP) QLT iG]

(A) ﬁ@gggﬁleﬁ@rmmmm RUILFHESTET SlLL LD

(B) Quamrsaflen <nmened 1Bl LI GRTLD Q& 2 S| SIL LD

(©) G.Iua?msaﬂéiﬂ Qeoﬂéé!gamma;mm Q66 & 0l & TaTiTEH 6

Skl

(D) ocumiemoemUl @g@l_l!ugfﬁ)aamsmé\ﬁ_.t_lﬁ .

CCSFT
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150. Match the following : ¢
(a) Jawahar Gram Samridhi Yojana 1. 1993
(b) National Social Assistance Programme 2 LT
(c)' Employment Assurance Scheme 3 1995
| (d) Iﬁtegrated RurallDeﬁelopment Programme 4. _1.999
| @) )
| A) 3 2 1 4 -
| B) 4 g el R
(@) ia= 2 1 3
| D) 3 1 y 4
l! G]urr@‘é,g,ws: fde I AV
| ; . \/
| (a) géus.m_ﬂ)ﬁ Aiymib CouenevaumiiliLig Gl Lb 11, \%9
(b) BT @ seps 2 pefls HLLid e \HW
() GeusneveumuiLiLy g_gjgl‘&, ‘é,IL;LLb gsv 1995
(d) Sy mridlmeanhs Gumr’réé]gr; ﬁt'_:__Lb %v 1. 1999
SO R G é) \
A) 3 2 1 4
) g & 2 Q &
© 4 2 1 37
D) 3 1 2 ?3\
?u
151. The founder of scie socialism . |
(A)  Alfred Marshall ' 3 (B) Karl Marx
(©) J.A Schumpeter (D J.M. Keynes
 2fleflwid swginsms ComHmieSseT -
(AY - ol e ' @) wi b
(©)  JA sbSLLR _ D) J.M. Séns
A g3 ; | B - CCSFT
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1562. Match the following :

(@) Osmium : S L
‘()  Lithium et A e o
(¢) Tungsten | 3,

(d) . Silver 4.

@B By @)

(S T el e
B 2 1 e g
(0 2 Sea -l 1
(D) 3 4 | 1

gilwrsl QUTHSSHIS :

@ 1.
(b) 2.
© 3.
(d) 4.

@

A 2 e _ 4
B) 2 fe 3

; gcg' G 4 1

O 1 o

CCSFT

Best co;lductor of electricity

Heaviest metal

Lightest metal

Highest melting point — 3300°C

s WeisL 55

10&8 seorear 2 CamsD

185 @Caerear 2 Camsid

918\% 2 (HGH e -r3300°C.

52




153,  Match the title winners with their championship of 2017 :

(8 Ms. Saikhom Mirabai Chanu L.

(b) Ms. Mafy Kom 2
(© Mr. Gopi Thonakal e
| (@ Master Aravindh Chithamba.fam 4.

R et )

&) 3 4 2 1

e R R 1

| C) 2 S i
| . 3 h I_I-IM

D) 3 2 1 4

(@ Qedeudr Sipeips ¢

@ @
(A) 3_' Lot
e s e R
T A Y
D) i

World Junior (V 20) Chess Championship
World Weightlifting Championship
Asian Women’s Boxing Championship

Asian Maratlion Championship

W @mﬁma} (V 20) sgipmis Enmtﬂ]u_lracrrasﬂu -
2 Q& LIGh SIISHGLD B:I'I'LDI_CI]UJGMG@L_I

S AW el T GgIFs@TenL sTDAemadls

o Aus Lnrn;rrr‘é;g;-rreirr' gmbLalwieadl L)

CCSFT
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154. Which of the following pairs are incorrect?
I.  Chloroflurocarbons h — Refrigerators
II. Methane - _ - Ploughing of fields
IIT. - Nitrous oxide . . — . Enteric fermentation in cows
IV. Carbon -dioxi{ie 2o 2 . Burning of fossil fuels
(A) IandlII
(B) II and III
(C) IllandIV .
tD) [ and IV
SLPSSHETL_6U DM 6T S6ummen @)
I. Gefirergean QUL
- II.. LI GHT G GHT LD GUOT 6 6T (LD F6D
IIT. srepenLsafled C&f&se
IY.‘ Leng Ligel 6rilQummLseaner 6Tifl 56
A) Twpy Il
@B) II mg’@uﬁn I11
©) .III_ Lﬁﬁ)@L‘ﬂ IV
(D) o3 g IV
CCSFT - i % 54




1565. The G.C.D. and L.C.M. of 90, 150, 225 is
(A) 15,450 ' (B) 450, 15
(C) 90, 225 Nt (D) 225, 150

90, 150, 225 o dlw eramrgafle L5.QLm.eu LHMID W.Gum.Lb.

(A) 15, 450 (B) 450, 15
(©) 90, 225 (D) 225, 150
S | | MR
156. If y——=6 find the value of y° ——
2y, ' - y

] (A) 216 _
s (€284 - | )
1 SERE TR el
y——=06 eaile® y° —— @len LGS STanTs.
Y )
(A) 216

(©) 234

157. Which of the followihg staten
(A) The opposite sides
‘(B) The opposite angls
(C)  The diagonalégre ¢
(D) The diagonals bisect each other

@it QaEIHHD 6TE SAIDTET D) ?
A - GTETLI LIS HBISET ()60 6007 T(GLD
B) adHQydit ComenmiseT HDILD LIGEHHIGET FLOLOMGLD

(C) ELPGHEV éﬁll'_t__rmserﬂeﬁr ﬁ,mréws@lb FLOLDMGLD

- ———— e —— —— REE " i A ————— —i=s

D)  epenev Luﬁws @mm@un@&@ @\ FL08 ) (HID

CCSFT
[Turn over




.

']"f}” __l”-rl’
i
f_'l | |
[
|l
i
II
|
] |
|
!

| e di—

158. Match the following :
(a) Governor

(b) Chief Minister

(¢) Legislative Council

(d) Legislative Assembly -

@ ® (©)
@) 3 9
®) 3
©
(D)

(b)
'.(c)
(@) &
L R O
(A) 3 2 4 S |

Artible 171
Article 170
Articlé 153

Article 163

56




159. In Tamil Nadu }’FhiCh year TNEB was established on the basis of EB Act of 1948?
(@A) 1957 July 1
(B) 195I7 August 1
(C) 1957 September 1
(D) 1957 October 1

L}
]

1948-1b éb&f‘ﬁT@ Aerudiorer st sHearuy sllpasdle abg ear® Werery eurfluw (TNEB)

c%i.smmééasﬁluﬁ_l_@? | | | )
(A 1957 mOaa 1

(B). 1957 gysevi_ 1

E (C) 1957 Q&uuibuirr ]l

g (D) 1957 @&GLmuf 1

160. Which monumeﬁt- depicted the sin tty between Prakoy Literature and Dravida

Literature?
(A) .Benga]i
(B) Lisiar
(C)  Caspiar
| ). Palupn

Gymaatl GlomdlsEhéELD, SiyredL QomblseséEh @ Cu 2 drer ehmieweamw sapibd s blaul b

(A) eumsTer

®) . Sduwi

(©)  srevGui

D)  OAsainie .
R s BT | L O OSRT
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161. Which of the following devices converts light signals into electrical (or) electronic signals?

(1) Digital camera
(2) Fax machine

(3)  Optical transmitter

A) (1) and (2) only
®) (2)and (3)only
(C) (1) and (3) only
D) (1), (2) and (3)

1 étTeu(HLD 2 LISTERTRISETE, aefl memasmer Llamailwie (1) LT &M &SATTE LOTHDILIEHE

@) @Qe&s gaflliLiL& &(mel

(2) QOsrane B
(3) gafludwied Lyl

@A) (@) wpmibd (2) b G
(B)  (2) wpmid (3) LG
€) (1) wpmid (3) LG
D) (D), () wpgbd (3)

A man sitting in the revolving chair with stretched hands, suddenly bend his hands, the

v
(A) decreases Q~ |

(C) zero (D) constant

angular velocity

(B) increases

amasar HrLliul L Hlaouie &b pnﬁ)a;rreﬁluﬁlsirr 1551 SILMHHBGEGD @melT, Sllelblyar amasamar

L&@E Gurg), Carans HamsGaisid

A @@y | (B) <glswnEod
(C) IH%E@I.IJH'@LE) | (D) wromwedl|HEELW0
CCSFT | cr A ' ’_ A
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163. Mention the floriculture centre started recently under the Indo Israel joint agreement on

164.

agricultural project.

(A)
(B)
(€)
(D)

FSLSS D @Eﬁm—@m@né Gl (B Caerramemn FHLgdlear Sp weir eueTiiy eWwWd 6rhiE

G]g,rn_réja;.l.'.:uf_l_g;j? 1

(A)
(B)

_—-———_mm
e B P A it o B S P Sy i = = et e 5 aahei o egEmae o

C) @wawmpE, Q&sh-smqm
D)  @ereni, S wreu L ib
| 1
The Planning Commission in India is now V)
(A) Planning Council
(B) NITI Aayog
(C)  NITI Sanjog
(D) Bharatiya Aayog Maxdx

(A)

e g E
e e o T W et A g cmm— 1 L e S - = R g 3 = = —- ? ]

Thovalai, Kanyakumari District
Thally, Krishnagiri District
Anna Nagar, Chennai |

Connoor, Nilagiri District

Ggrairena, semefluim@Lom wreul L ib

geitl, Slpeigenrdlil wreu L b

@ndurelen L& siflager HGLITE) GTEUGUTD) ADWPESUILIOEDG)?

HLLS G | | |

B Guiré (NITI Aayog)
LLM#“___________

(C) bl &@pGenma (N ITI Sanjog)

(D)

L) — N

Liryglut <, Guimg e e

59 CCSFT
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165. If x, 2x+2, 3x+3 are 1n G.P, then 11x, 22x + 22, 33x + 33 form

(A) anA.P.

B) aG.P.

~(C) aconstant sequence.

(D) _Neither AP nora GP. -

:c;, 9% + 2. 3x + 3 erenian @ QUHEEGS CSmTT auflensu@elmrnden 11x, 22x + 22, 33x + 33 erenm

Qg euflensuiraig

B) @@ uBsEES Qg euiilans
©) e wrhdls Qs euflans

(A) 48

(C) b4

ey eremsatlen & (HiGe 264 @g,m GT GO0 @Usﬁﬁn'_rrsug eraior CLITE @)( LOLIEIE, APETDITaUS) CTERT (PSeV .

GTEHOT G 16V fynﬁin,fﬁld} (1 Qr@@'sreaﬂeb @QeTLTeug) 6T WS

(A) N ] it i (B) 72
© b4 . ' | (D) 64 |

CCSFT - 1 - W e




167.

168.

Identify the defence equipment which was officially decommissioned on December 17, 2017
by the Indian Air Force

(A) P-8 ILR Maritime Reconnaissénce Anti Submarine Warfare Aircraft
(B)  Mi-8 Attack and Utility Helicopter

(C) = P-3 Orion Anti Submarine Warfaré Aircréft

(D) -Mi~V5_Me_diun‘-1 Lift Reconnaissance Aircraft

Qi eflran umLwred 2017-b @ geour 17-1b BIeT Siaee flwurs sl

LITGIGTLIL| 26nid)

(A)  P-8 ILR Maritime Reconnaissance Anti Submarine Warfare Aircraft

(B)  Mi-8 Attack and Utility Helicopter

%_——"—“.-__w
(C) P-3 Orion Anti Submarine Warfare Aircraft

(D)  Mi-V5 Medium Lift Reconnaissance Aircraft

20177
(A)  Gowri Ramnarayan
(B) ‘Gowri Lankesh
(C) Arun Kolai;kar
(D) Mahesh Dattani

2017-1b ye001(H .@lés(Bi__frurﬂaiJ Qeuafdiciuc L “Dark horse and other plays” eremm BTSS0S

Qeueluf_L_eur

|(.a‘f‘!x) - Qser TDBIFILIGHT

B) sl omGaes

(C)  simeam Qasreongsir

(D) 'Ln(B_aseig. ggg,nmﬂ

61 | | CCSFT
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167.

168.

Identify the defence equipment which was officially decommissioned on December 17, 2017
by the Indian Air Force '

(A) P-8 ILR Maritime Reconnaissénce Anti Submarine Warfare Aircraft
(B)  Mi-8 Attack and Utility Helicopter

(C)  P-3 Orion Anti Submarine Warfaré Aircréft

(D) .Mi-VSIMediunll Lift Reconnaissance Aircraft

@bdw eflwrears uemLwrd 2017-b e yabum 17-1b preT sgieued Telwrs @msell il
LITGISTLIL| 26rd)

(A) P-8 ILR Maritime Reconnaissance Anti Submarine Warfare Aircraft

(B)  Mi-8 Attack and Utility Helicopter

M
(C)  P-3 Orion Anti Submarine Warfare Aircraft

(D) Mi-V5 Medium Lift Reconnaissance Aircraft

20172
(A) Gowri Ram nérayan
(B)  Gowri Lankesh
(C) Arun Kolaticar
(D) Mahesh Dattani

2017-1b e aés(gL_frurﬂGb Qeuafudi_ i “Dark horse and other plays” erenm pBrLssSens
Qeuaflufl_L_aui

(A) GQasaril IDBIFIILIGHT
(B) Qaerfl @miCses

(C)  <maw dereonssi

D) wlsdy sssTean

61 | CCSFET
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169. In which Article make provision for the appointment of a law officer, the Attorney General
by President of India? |
(A)* Article 66 | (B) Article 67
(C) Article 76 | (D) Article 96
FLL IQICUTEET LOHMILD OGS |8 SMEEMLD GULDEGENTEhTHemer 6Thg elldludler SLp @BEHILI &lqWirs
SN BlwILOl &Sl GTmmiT? '
(A) &4l 66 (B) &l 67
(C)  &fld) 76 (D) &4 96
>
170. The Government of India introduced the Rights to Educe 15%6 "
(A)  15% August 1947 (B) 267Fenuary 1950
(C) 1st April 2010 223 October 2012
@Bl o7& sedl - flend FL_Seng HenL (L
(A) 15 oysevl 1947 (B) 26 ;eeurfl 1950 |
(©) 1 glige 2010 D) 2 &G 2012
171. When was the Legal es Authority Act (Lok Adalat) passed?
(A) 1985 (B) 1987
C) 1986 it (D) 1988
o fleno Liewll& sl 1b (Gsun.i SIHNH) 6Thd 2per(® HlenmGCauppriniLg?
(4) 19857 | (B) 1987
(C) 1986 Sk - (D) 1988
CCEFD .-, 62
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172.  Match the following :

(a) Assam _ - 1.

Podu

Mashan

Ponam

Jhum

(b) Andhra Pradesh 2
(¢c) Madhya Pradesh 3.
@ Kerala 4,

@ ® © @

PA Y 2 4
(B2 3 '
@ 1 2
(D), 4 3
QAUITBES!5 :
(a) SsieveLTD
(b)  <ypdlr GyCseld
© wsdlu GyCsen -
Garyor

(d)

(@ () (c) (d)

3 Tt 2 4600 4
2 3 4 1
1 R 4
4 3 2 1

& T 2D enwd La4bw
3dads S\oug I:F-"-Tg

63 | - LCCEPT
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173. New Agricultural Price Policy was announced in the year
(A) 1984 : - (B) 1976

(@) 1996 (D) 1986

L&w Ceuermenr elenevd Qamerens Geueludl L. e[
(A) 1984 (B) 1976

(C). 1996 ' (D) 1986

174. The birth of economics of education was announced by

(A) Marshall
(C) - Schultz

STV LD &GN

,(gl G GHEVL_GM (D) &ens

175. National Integratior % _
(B) October-20 |
(C) dJune-10 | - (D) August-12

Gg@u_l @(maLILIT(H Slerd Glaérrsa'irrl_n@Lb BTG GT8)?

(A) BeudLIT-19 .(B) 2156 mum-20
(©) 910 ' D) asne-12
|
]
ill. - cesET S , i




176.

@

Match Li-st_I with List II correctly :

[iat-1i

(Solﬁtion)
(a) Blood
(b) Urine

(¢ Vinegar

; (d) Milk .
S sla)l ()
. 2 | 3
B) 2 4
@ a2
D) 3 1

List-II

(pH value)
15165

2:  7.3=175
5% B haTs
drs 2484

Lt G-

(Bemrae)
(@) Gond
(b) Appi
© eNafai
@ wuré

G i
A 2 3 4 1
®) 2 4 1 3
(€)% gk R
D) 3 i 4 2

65
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177. The writer of the Novel “Dukkam Sukkham” who has been chosen for the Vyas Samman

- (D) Kamal Kishore Goyenka

o e T

178.

e e e g i, S g s B e K A s o - pr—— -
> —" - P r— - _—_ > - -
.

2017 is Mr/Mrs
(A) Surindar Verma
(B) Sunita Jain . ‘

(C) Mamta Kalia

2017—'%{5 2}, GTIg DETET GTWITED FDLOTE ApHnans CoibosBssiularer ‘Fi&s0 HGHD’ GTED
prouedler A Mwirmer Geur, &1/ S\ (o) & |

(A) &fpsTeumor

(B) safllgr Qguiler
(C) wbgTsTEOIWT

(D)  swe HCagmi CaHTueTST

The recommendatioﬁs of 15t FingmfeAJommission will be teffect from which date?'
(A) January 1, 2018
(B) April 1, 2018 |
(C) April 1, 2020

15-cug) ﬁl@é-@@aﬁ]r&h Lflpglenrser eriQUTPE L (PPDEE GU(THLD?
(A) gareufll, 2018 | '

B) alp® 1, 2018

(C) __glge 1. 2020
!

D)  gamaufl 1,2020

CCSFT s | P g ' ' _ A
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180.

181. -

The respiratory quotient of glucose in anaerobic respiration is

(A) One

(B) Four

(C)  Infinity

(D)  Less than one

sTHmlevevT &Feuressle) & ehsGaradler aeaurs rray (G LD.
Q) g
B) pré

C QUM

D) @am&EE G®DaTas)

The value of e° is

-L(A) e
(C): 0
e’ -afér S
(Al b
(C): -0

How many solutions have a linear equation in one variable?
(A)  Three solutions he (B) Unique solution
(C) Two solutions (D) No solution

& AHludled SienohHG @Ir'r @@u 9-& FLOGTUITLIG.M) (G TSSENE SIT6LHET?

(A) e Sireygeir B) o sie
e ———
C) @uean® Sieyser | (D). &reyser @éomf}m

67

3 - N ———— T CEm ———= 5 =
= - o :
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182. Reciprocal of 0 1s

@A 0 B) 1
(C) 0 (D) no reciprocal

0-eSlerr gm@ﬁ@ =

@A) 0 ®) 1 1

C) D) sma&f HepLwing) '|

183. Which one of the following statements 1s false?

B) Q@ ecranTsaile SriQLm Quim.eu. 1 erafled i6ueSl(m T ¢ D LISIT GTERTEET 6Teull L (HiD

craiaenen QUITE LOLBIGSETE B\ &&HHIw Lm_réJ@ sicQeuarsaien Besflim CUTg)
| ‘ | q |

(C) QoucuGoum

DLBI(E 2bGLO
D) @ earsaie Qu(BssHLOET  Sieubdle BuQu@p Qumel. LHDID. W& m) Qu.Lo. | |
2 E\Wwieu DD eor QUBHSSHLIODISGE .5=anrr@fb |
|
|
|
CCSFT 168 ()




184. Match the following and choose the correct answer :

Local win.ds ' Location
(&) Chinook 1.  Gulf of Mexico
() Fohn e
(©) Mistial 3. Northérn Italy
(d) Norte : 4.  Alps region

@ @

A) 2 3
B) 4 3
(@
D) 4 g

&6 GITHMI &6
(a) Sereyns
(b)  Soumen

(c) WlevLge

(d)  prrc
; ()<= i(b)
(A)i = 2 3 4 1
(B) . 4 3 2 1
© 1 4 e
(D)4 O 1 g
4 69

CCSFT
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185. In Rigvedic period warrior art taught to the Princes of olden days are known as
(A) = Sama Vedam | (B) Danur Vedam |
(©) Adharva Vedam - | (D) Varuna Vedam

N&Ceus STOSEID NTE @mm;rr‘ra@és@ asﬂ)lﬂéaauuu; (Surrr'résassmso @@mng S| P&SILLL G

(A)  smoGaigd B) sa@i Ceusld
(@)  osre Gaugld | (D) e Gaugid
186. Match :
| List I ¥ List II

(a) _Public Service Commission 1
(b) Hindu Religious Endowment Act 2
(¢) Andhra Univer sity " 3

(d) Staff Selection Board

~ (a) (b)
(A)aEd e 3
(B) 2 4
(C) 4 L9:
D) 2 3

- QummBZIS

aufleng I

1

b) @b SipHlmews FLL &2
() BT LIQSOEHLED 3. 1926

| 4

(d) wewtlwmerT Caita| eumflud

Go o A e 70




187.

Which of the following statements is/are wrong?

(1)  Light year is a unit of time.

(2)  Astronomical unit (AU) is a unit of distance.

-(3) Parsec is a unit of mass.

A) (2 and (3)
B) (1) and (3)
©) (3)only

(D) . (1) only

(1) qofl @@ eranugl STSSET @i SVSTED, &
(2) eumaflwe e (AU) eremug Qgmey 3

(3) uniles ererug) Hlenmullen ¢

©)  (3) wi@b

D) Q) wiEw

71
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188. Who among the following has been appointed as the Deputy Director General for

programmes of the World Health Organisation?
(A)  Nisha Desai Biswal

| (B) Dineshwar Sharma
(C) Soumya Swaminathan

(D) Gautam Bewbawala |

2 Q& GETS] Hneuarsdlen gl @eﬁmu Qulrr;j @Quaeprms (SiLb) (Deputy Director General)
RS ESILL L 6T

(A) Hlagr (Bg,.@si:rru'.! Lﬁlsiueuﬁeb
(B) &Cameigeur gmom

(C)  QaemBlwr seumrdlprge
(D) Qsersb GupueuTT

189. In order to encourage the po. : m sector and help small industrious, and joint venture

0017-2pd pein® @pHu oflensssd wHPL Kalaild oD, Aevapsdl wHpd ApnGsmHle

- Hpeuariiser Sueme CanELID auaTy oargEIL(HSSILILL SILLID

(A) SAMPRADA

®) ' DOET
(C) AARAKSHAN

‘(D) SAATHI

CCSFT | g 72 | .




190. 1. Amnion provides a fluid medium for the embryo
2. The Chorion and Allantois fuse to form placenta
3. Yolk sac proviﬂes a fluid medium for embryo

Chogse the correct :

(A) . 1and 2 are wrong

(B) 1and 2 are i*ight -

(C) 2 and 3 are right

(D) 1land3 are right

a1 &7
(A) L2§@@
(B) 1,251;5'
© 238
D) 1,3
7 e s 73' ‘ S CCSFT
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| . 191 If124+2%+3% +....+10% = 385 then 2% +4% +6% + ... +20* is
| &) 770 | B 1150
'| (C) 1540 . (D) 885 % 985
| - L .
|‘ ' 12422 +3%+.....+10% = 385 erafled 2% +4% + 62 +....+ 20 -an ULy
@ a0 5 LBy iBg G %
' | - (@) 1540 % - (D) 385x385 :

192. - In the ratio x % of y to y % of x, its fraction value is equals to
! .

Q) o
| Xy
£
y.

(€)

(A)

<R Q‘H

©)-

193. Arun is now he ' d as his father. Twelve years ago the father's age was three times as
old as Arun. Now the present age of his father’s age is _
(A) 24 years | ‘ (B) 36 years
(C) 48 years (D) 50 years

{ Ik <3| (mewtl 6ot g,r_bGurrsmgtu QUG DjaI(HENLI HHengudleo Guu_ig,lsh urglungld. uereflye(® < arhsl (G
wpeny sihomsular auwistars <imafler euwimsts GuUTe (PIDDLRISTS B)(HhSS). sHCLITG HHenasusler

| g | | |
A) 24 sygm@ser - . (B) 36gyenpsd
(C) 48 oyam@aer | (D) 50 eycr@aer
{ il CCSFT R 74 £oot , o
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194. Find out the wrong rules of the national flag.
(A) . The national flag should be raised and lowered carefu-lly
(B) We musﬁ lower it before sun set
(C) No other flag should be placed higher than it nor should any flag be placed to its left

(D) We must stand in attention when the flag is hoisted
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195. Article 41 of the Constitution of India gz
(A) Right to work
(B) Right to property
(C) Right to live ‘

(D) - Right Against E
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196. .

197

198.

(A) Camirerm

(C)  sowmenr

~(A)  Iltutmish
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Find the name of the ruler who gave Pondicherry to French

(A)  Fahlul Khan Lodi | (B) Ibrahim Lodi

(C)  Sherkhan Lodi I (D) Ttutmish
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Shivaji got himself coronated at
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Qutb Minar was started by
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- (B) Aram Shah

(©)  Qutb-ud-din-Aibak (D) Firoz Shah
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199. In which one c_lescribes the social conditions of the Sangam Tamils?
A Ettuﬁhogai : (B) Pathupattu
(C)  Porulathikaram in Tolkappiam (D) Silapadhikaram

ThHS @@ﬂgj ghi&S SLOlLPle E@og;ﬁm Hlencvan i eSleT&GSnG!?
(A) T (HSEHTENS (B) ugguumi(
(C)  Qsrovsriduséle o erar Gurr@srré!a;rrqm (D) Heoliwdgmyd

L ]

900. Match List I with List II and select the correct answer using the code given below the list :

o TiatT - List I1
(a) Amuktamalyada 1. Gulbarga
(b) Juma masjid 2.  Biapur
(¢) Golgumbaz 3.  Sanskrit
(d) - Jambavathi kalyanam 4. Telugu
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